/ SYDNEY GRAHMAR SCHoo/

5G 2006 Algebra, Numbers and Functions 15th February
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14.

Which of the following are irrational numbers , 27—2, —1-5, 0-3, tan 30°.

Simplify (3v/6)2.
6v18

. Simplify ——

2v2

Find 0-23’7 as a simplified fraction.

Simplify /54 + 2v/12 — V24 — /37

Find the value of ¢ and d if (2vV3+4)2 =c+dv2 where ¢ and d are rational,
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Simplify v2 - \/- .
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Find the value of a and b if = a + Vb where a and b are rational.
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On seperate axes sketch the following relations. \\
(a) y=3z (d) y=9—-22 -\
b) 22+ 3y =6 (€) (z—3)2 442 =09
( y y
c) y=3"7% 4 ‘
() y=5" | ) y=- 1\

x/‘
Sketch the function y = /9 — z2. State its domain ga,nd range.
Sketch the parabola y = 2% — 62 + 8 showing the roots, y-intercept and vertex.

Sketch the hyperbola y = 2 + showing the asymptotes and intercepts with the

z-1
axes.
Find the inverse function of f(z) = 2$x T State the domain and range of the inverse
function. ” L
On separate axes sketch: ‘_
(a‘)y:\/i: // (C).y:\/x_f'll)
) y=-vz, (d) y=-vz -4,
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